CAT2 Qs of anatomy
1. with the patient in the standing position the pleural fluid would most likely gravitate to the 
a. oblique fissure 

b. cardiac notch 

c. costomediastinal recess

d. horizontal fissure 

e. costodiaphragmatic recess

2. the following statement concerning the trachea are true except which 

a. it lies anterior to the esophagus in the superior mediastinum 

b. in deep inspiration, the carina may descend as far as the level of the 6th thoracic vertebrae 

c. the left principal bronchus is wider than the right principal bronchus

d. the arch of the aorta lies on its anterior and left sides in the superior mediastinum 

e. the sensory innervation of the mucous membrane lining the trachea is derived from branch of the vagi and the recurrent laryngeal nerves
3. the following statements concerning the root of the right lung are true except which 

a. the right phrenic nerve passes anterior to the lung root 

b. the azygos vein arches over the superior margin of the lung root 

c. the right pulmonary artery lies posterior to the principal bronchus 

d. the right vagus nerve passes posterior to the lung root 

e. the vessels and nerves forming the lung root are enclosed by a cuff of pleura 

4. in a posteroanterior radiograph of the thorax, the following structures form the left margin of the heart shadow except which 

a. left auricle 

b. pulmonary trunck 

c. arch of the aorta 

d. left ventricle 

e. superior vena cava

5. the following statement are concerning the bronchopulmonary segments are correct except which 
a. the vein are intersegmental 

b. the segment are separated by CT septa

c. the arteries are intrasegmental 

d. each segment is supplied by a secondary bronchus 

e. each pyramid-shaped segment has its base pointing toward the lung surface

6. the following statement concerning the walls of the inguinal canal are correct except which 

A. the inguinal ligament is made tense by flexing the hip joint 

b. the contracting internal oblique muscle reinforces the anterior wall of the canal in front of the weak deep inguinal ring

c. the strong conjoint tendon reinforces the posterior wall of the canal behind the weak superficial inguinal ring 

d. contraction of the arching fibers of the internal oblique and transverses abdominis muscles lowers the root of the canal 
e. after birth, the deep inguinal ring and  the superficial ring oblique don’t lie opposite one another 

7. the following statements concerning an indirect inguinal hernia are correct except 

a. it's the most common form of abdominal hernia 

b. the neck of the hernial sac lies medial to the inferior epigastric artery 

c. the sac is the remains of the processus vaginalis 

d. the hernial sac can extend into the scrotum 

e. at the superficial inguinal ring ,the hernial sac lies above and medial to the pubic tubercle

8. to pass a needle into the cavity of the tunica vaginalis in the scrotum the following structure have to be pierced except 

a. skin 

b. dartos muscles and colles' fascia 

c. tunica albuginea 

d. internal spermatic fascia 

e. cremasteric fascia

9. the following bones from the distal row of carpal bones except 

a. trapezium 

b. pisiform 

c. hamate 

d. capitate

e. trapezoid 

10. the lymph from the upper lateral quadrant of the breast drains mainly into the 
a. lateral axillary nodes

b. internal thoracic nodes

c. posterior axillary nodes 

d. anterior axillary nodes

e. deltopectoral group of nodes

11. the following muscles abduct the hand at the wrist joint except 

a. flexor carpi radialis 

b. abductor pollicis longus 

c. extensor carpi radialis longus 

d. extensor digiti minimi 

e. extensor pollicis longus

12. regarding the epiploic foramen , all true except,
a. inferior vena cava lies posterior to it 

b. superiorly cauadat lobe of the liver
c. psterior first part of the duodenum 

d. anteriorly lesser omentum 

13. all the following artery make anastomosis around the stomach ,except,

a. left gastric artery 

b. right gastroepiploic artery 

c. short gastric artery 
14. fracture in the spiral groove will lead to injure of all the following except
a. nerve to lateral head of triceps 

b. nerve to medial head of triceps

c. nerve to long head of triceps

d. nerve to anconeus
e. posterior cutaneous nerve of the forearm
15. regarding the pericardium all of the following true except 

a. parietal layer called epicardium 

b. fibrous layer firmly attached to the central tendon of the diaphragm 

c. oblique sinus reflection around aorta and pulmonary trunk 

16. regarding the bronchi all true except 

a. left bronchus  run vertically

b. right bronchus short 

17. regarding the heart all true except 

a. anterior cardiac vein drain into the right atrium 

b. right coronary artery open into the left posterior aortic sinus 
18. regarding the porta hepatis all the following present in it except 

a. hepatic vein 

b. hepatic artery 

c. bile duct 

d. lymph vessels

e. portal vein

19.all these structure pass beneath the flexor retinaculum except,

a. flexor digitorum superficialis 

b. medial nerve 

c. ulnar nerve

d. flexor carpi radialis

e. flexor pollicis longus 

19. attachment of the vertebrae 

20. suprapleural membrane 

